[ Efficiency vs vertpos |
0.5

L OSSR — —
7 RSSO F— I— S—
T SRS S S— S—

0.15F :
0dF -+ eeemrivneee I T e
0.05F -+ eereeerennenens L MRS e

Y PYTTN AU

0.95L H
1072 107 10 10?

— \JlltI IJ IVI OT IH IVID
— Tr %/D 1 Iorl MS
|:Eff|c:|enc etac M‘ong‘MS

0.5

0.45F -+ ________ ________ e
N S O R
R R T - o
T A R
L T T - .
O e .
0.15F--+++eeeeoof | :
ey L SR S
0.05;— ------ + : ! 5

£ Q==

1

0955 _2'0

[ Efficiency vs. sim PV z |
0.5

0.45
0.4
0.35
0.3
0.25
0.2
0.15
0.1

0945 10 50510 1520



	Contents
	Page 1


